EFII

a Version No. ROLL NUMBER
2|11(0]|1
- © © ® © © © ©@ © © © ©
ONN BNON J OO ONONONONO)
BIOLOGY SSC-lI ® @ @ 0@ ©@ ® 0@ @ 0 00
| SECTION - A (Marks 12) ® 6@ 6@ 6 ® ® ® @ ® ® 0O
Time allowed: 15 Minutes
. Section — A is compulsory. All parts of this @ @ @ @ @ @ @ @ @ @ @
section are to be answered on this page and
. handed over to the Centre Superintendent. @ ® 6 6 @ ® 6 ® @ ® G
Deleting/overwriting is not allowed.
Do not use lead pencil. @ @ @ @ @
n S K LS L1 LS p P S s P 1oz lie i e ©® ©® © e 6 ®
W PN S AR ¢ ®© © © @ @ O @ © ®© © @
- ® ®
® ®© ® ® ® ® © ® ® ® ©
|
Answer Sheet No.
|
. S fmerndb LS L e L), Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
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| The plant in the diagram
shows natural vegetative
propagation through: Bulbs Corm Rhizome Stem tuber
.1 ﬁ‘-‘;/jﬂf‘sd@;{éaﬁkﬁrr/&ﬁ 7~ e O] f::’(" O O O O
da&w_LJiL
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During the process of exhalation the ribs|{Down and Up and Down and Up and
2. Mmove: inward inward outward outward O O O
. QLEG/J}'C_(UWUU»LJFL%J& .J)L.(dl»fé .J}Ju’lul.;;r J}’Jﬂpsfé J)’L,(;E_.;JF/’;I O
A child has blood group'O'and his father's
| blood group is 'B'what will be the genotype
i 2 A A A B A ] a A AA ]
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4. Which part of flower produces pollen? Stigma Ovary Filament A”rjther O O O O
- ?.T_t‘b_ﬂ.;'.-vl.fufﬂjr‘f 3 Yl ol s
Which of the following correctly matches|Rubber plant, |Rubber plant, [Rubber plant, |Carnivorous
.5_ the plant with its waste product? Mucilage Latex Gum plant, Latex O O O O
teernte AL AL in Sy o | vty |J By Fern, oEespmd N
.!5 Ciliary Suspensory | Skeletal
. The size of pupil is adjusted by the: Iris muscles {muscles ligaments muscles O O
sl SeriiLdu} cuf | us ek =1 » O O
. Which of the following pairs is an example of{Gender and {Genderand |Blood group |[Skin color
7. discontinuous variation? skin color blood group {and skin color {and height O O O O
. T{..df’&:—'ifl/:’;l}ibuf;uﬂ;}bﬁ \.'JFJL}/JJ.'JJT(};" h'.ifﬂ.ulu:‘-’ JJJ)J!’}JTVLJ'A:L: ﬁui.:.f;d/xl?
e Which drug is obtained from cactus and
. mushroom? Morphin Codeine Marijuana Hallucinogens O
?‘LJQJJ'!,._L;JCJL_F;;’”U@ FA o TEAP ek O O O
0. The hormone 'Estrogen’ is produced in; Thyroj(i gland Adrgnal gland | Gonads Pancreas O O O O
Y - wrhts 2| il yo BT s A
i Rib cage is made up of 12 pairs of ribs and
0. bone. Stapes Hyoid Femur Sternum O
-1 e By N _;Jlﬁu’}'f’gjﬁll(a/ifu,'k)g/m R el /." (_‘/ O O O
All of these are objectives of genetic|Making cheese |Isolation of Improvement in | Production of
lu_ engineering EXCEPT: ) and yogurt gene enzymes RNA O O O O
- Ly partee £ LI B 7 b o s S U A 1 e test T
In the given food web .
the missing living| Grsfjopper 17005
-.'l organism ‘W' could i it
2. be: SASOmE — b —s | FTOT Hawk Caterpillar  |Dandelions O O O O
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Time allowed: 2:45 Hours

BIOLOGY SSC-li

Total Marks Sections B and C: 53

(4—5-
d“\

NOTE: Answer any eleven parts from section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answer neatly and legibly.
SECTION — B (Marks 33)
Q.2 Answer any ELVEN parts from the following. All parts carry equal marks. (11 x 3 =33)
(i) Describe the importance of negative feedback with suitable example of hormones.
(ii) Differentiate between '‘Bacteriostatic’ and ‘Bactericidal’ antibiotics
(iii) Compare characteristics of hydrophytes and xerophytes. Give one example of each.
(iv) Briefly explain following terms: (Any two)
(a) Glomerulus (b) Bowman’s capsule (c) Selective Re-absorption
(v) Compare ‘Cellular respiration’ and ‘breathing’
(vi) What are ‘micropyle’ and ‘embryo’? Describe their importance.
(vii) Draw labelled diagram of human urinary system.
(viii)  Describe binary fission in unicellular eukaryotes.
(ix) Diagram A and B are disorders of the eye
(a) Write names of these disorders
(b) How can these problems be rectified?
(c) Describe vision ability of persons having these disorders.
(x) How are bacteria developing resistance against antibiotics? 02(ix)
(xi) Describe causes, symptoms and treatment of arthritis.
(xii) Represent phenotype and genotype of F1 and F2 generation of the given cross of pea plant. (‘T' is
dominant over 't') (Tall) TT x 1t (Short)
(xiii) A jointis shown in the diagram:
(a) Identify the joint
(b) Where is this joint located in human body?
(c) Identify its any one function.
(xiv)  What are temporary parasitism, endo parasites and commensalism? 02 (xiii)
(xv) How is smog formed? Describe its effects.
SECTION — C (Marks 20)
Note: Attempt any TWO questions from the following. All questions carry equal marks. (2x10=20)
Q.3 a Discuss Mendel’s law of independent assortment with suitable example by making Punnett square.
b. What is ‘Asthma’? Describe its causes, symptoms, preventive measures and treatment.
Q.4 a. Explain male reproductive system of rabbit. Also draw a labelled diagram.
How are nitrates formed during nitrogen cycle? Discuss. (Flow chart is not required)
Q.5 a. Discuss structure and types of neuron. Also draw its labelled diagram.
b. Describe scope of biotechnology in the field of ‘Food and agriculture’ and environment
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| | Question Jir A B c D AlB[c] o]
| The group of drugs 'Psilocin’ is obtained
1. from: Cactus Mushroom Opium Foxglove O
- et e oK ST e o (L ] O O O
All of these processes occur in nasal cavity |Warming of | Trapping dust |Humidification |Exchange of
n EXCEPT: inspired air | particles of inspired air |gases
2. Byt 2w LA UEN 0 [ findiin Prost (5013 | odvim P | sc¥urd O O O O
B /S ¢ i
In Mendel's law of segregation, Genotype
3. ratio of F2 generation is: 1:2 1:2:1 3:1 9:3:3:1
& ?a__gf:“zf_,.:ur':?Jw‘dﬁrztﬁﬂ-/.c_sf.u.idtg- O 0 0 O
|| 4 Succulent organs are found in: Hydrophytes [Mesophytes |Xerophytes [Halophytes O O O O
Sy AT b | o, W% Wad 175] el
. I and IT in the structure 11 I Axon, Dendrites, Cell body, Axon,
of neuron are: Schwan cells, | Cell body Axon Dendrites
B> Ve Sord s :M Kot Skt |urdiug UF skl O O O O
ot
- In which bone disease, accumulation of uric
6. acid in moveable joints occurs? Osteoporosis |Osteoarthritis |Rheumatoid | Gout O O O
B S bl snlF LA St U2 LSk SUth | U4 L2 e I ot
RRYy x Rryy gives phenotypically
i 7. different seeds. 2 4 6 8 O
?Luxlg@i%ﬂéﬁfr_ﬂ}’yx}?ryy O O O
|| carries the urine from kidney to Renal
g. urinary bladder. Urethra Ureter Renal pelvis |medulla O O O O
. -& bt j)@dﬁz:j:-é-:f:@-% 1Ay y vk b o
The given figure is v
. pyramid of numbers
in an ecosystem. 1 Tertiary Secondary Primary
9. Level Il represents: 1 consumers |consumers |Producers |consumers O O O O
| ifﬁéif.uf("-/!f‘uﬂ{.ﬁfi PP 5 ke irghy, P8,
o 'F.f_l.'/,qLF:(J(I[J:LlLJ[ | |
Which one of the following is carnivorous
10. Plant? Pitcher plant |Pea plant Mustard plant |Rose plant
. T.T..l!{.lm}xgbt:fbufa.g,ﬁa}bu L& ..'.-L‘L'v(é &Q}/’f' Lk e O O O o
. The 1% step in the production of human Insertion of
growth hormone (HGH) by genetic{Growth of Expression of |Isolation of {gene in
11.  engineering is: GMO genes genes plasmid O O O O
[ | Corll P Sikg ity AL 75 SQ1 s L L7 o) 2, S S AP b2 Lot LKz
Secondary spermatocyte undergoes
. 12. Meiosis-1l and produces: Spermatogonia | Qocytes Spermatids {Sperms O O O O
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Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answer neatly and legibly.
SECTION — B (Marks 33)
Q.2 Answer any ELVEN parts from the following. All parts carry equal marks. (11x3=33)

Note:

Q.3

(i)
(if)

(iii)
(iv)
(v)

(vi)
(vii)

(viii)

(ix)
(x)
(i)
(xii)
(xiii)
(xiv)
(xv)

Describe the process of Haemodialysis.

Describe the reason of differences found in inspired and expired air with reference to 0,,C0O, and

H,O vapours.

Attempt any TWO questions from the following. All questions carry equal marks.

Features Inspired air Expired air —-n
02 21% 16% B
CO2 0.04% 4%
H20 vapours Variable Saturated c
Enlist bones found in middle ear and parts of inner ear.
Identify the parts A, B and C in the diagram of flower. Also describe their importance.
How does pituitary gland control water level in the body? Describe.
Complete the given food web with suitable organisms. 02(iv)
What are Osteocytes, Hinge joint and Ligaments?
Describe the importance of following: (Any two)
(a) C- shaped cartilage in trachea /-N o
D — D
(b)  Larynx /‘ : \\“
(c) Diaphragm Grass oS > 9 > Hawk lic
Why did Mendel select pea plant in his experiments? \
Draw labelled diagram of structure of a dicot seed. 7 o~
Write down causal organism, symptoms and treatment of pneumonia. Q2wi)

Which organisms are used to extract single cell protein? Describe significance of single cell protein.
What are fermenters? Describe their importance.
Describe mode of action of vaccine.
Which narcotics are derived from opium plant? Describe their effects on human body.
SECTION — C (Marks 20)

(2x10=20)

How variations occur in sexually reproducing organisms? Describe types of variations and give
example

Discuss structure of nephron in detail. Also draw a labelled diagram.

Draw labelled diagram of human eye. Also explain the functions of middle and inner layers of eye.
Wirite a detailed note on carbon cycle. (Flow chart is not required)

Describe the phenomenon of ‘antagonism’. Also describe ‘antagonistic action’ with the example of
biceps and triceps. (Diagram is not required)
Describe female reproductive system of Rabbit. Also draw labelled diagram.
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.[ ] Question Jr | A B c D LA l B [ C | D ‘
High fever, cold and cough with sputum: ! ' ! :
production are symptoms of which! | | | .
] 1. respiratory disorder? _ iEmphysema iAsthma iPneumonia  iBronchitis O O O O
= st e of LAV WS AP miedl sz e dh i ey Wl '
Which of these is NOT present in the filtrate ! : : :
entering in the Bowman's capsule of a: ; ' ;
- 2. nephron? Water 'Calcium ions !Blood cells  :Urea ! O O O O
- 1 Seutec P Lnd i Lonfiguofidy Cilad ELus 1% .
Arthritis is inflammation of which body part? ;Muscle +Joints i Cartilage 1Bone
3. ' | i :
Which part of the brain is used in recalling: :
4, the memories? 'Cerebellum [Cerebrum  |Thalamus +Hypothalanus | O O O O
= e bl ol bt el ,)Ty_f A U“‘LQJ ‘-*“1-“"}&”["
is a muscular layer of eye ball. Retina ' Sclera ‘Cornea ‘Fovea
5, ——— : .' : b
i e AL Feslud iy, s ' HE o O O O
& How many bones are present in human! ' :
g. forelimb? 127 129 130 154 O O O O
te Jasbutit Ao e o v lug
. All given groups of organisms show External: 1Sessile '
fertilization EXCEPT: 1Fishes :Amphibians ;Mammals 'invertebrates |
. 7. :.‘_irtf_(jnu/gfﬂ;’)gff.(fgﬂum)’h‘/a}&;.uégulilgEu% E/-.:'{I i)”-" E;;JIJ_r;L/..;:f] E O O O O
E | s A '
. If Mr. and Mrs. ‘X’ have homozygous ‘A’ and; : : ‘
‘B’ blood groups respectively, then which: : |
- blood group is possible in their offsprings? {Only AB 1A and AB ‘B and AB ‘A, B, AB, O
8. ; i ; ; "
ugEiius B»rx\u;ufn.,;ﬂwésfﬂ,L'}(’f»r‘/f!:L}z_rbi/ Ve tustet HJentald Llastetedee O O O O
. 'i'f_ﬂh;;;ﬂ:c_u:"f.f E i | i
Which one correctly represents central: : i i
9. dogma? E DNA+RNA=Protein E DNA —>RNA+PmleinE DNA —» RNA —» Protein i Protein —» DNA — RNJ\E O O O O
= te 3 46 Lol S A ' ; 5 !
[ The relationship between Rhizobium: !
bacteria and leguminous plants is an; ! :Commencial- | |
10. example of: ) iParasitism  {Mutualism  iism i Predation O O O O
. ?cI_JL‘»JZ';ufJ‘”Kuug;udfmg/‘-farf;y’uEr}’vr,g Erjldg;f Er/ul""-lf E/(ﬁ){wﬂ‘j'_-; E
. All of the given are classes of antibiotics! ' Sulphonami- :
11. EXCEPT: :Morphine ides i Tetracycline :Penicillin | O O O O
AU RS A Gt A A e u‘ﬁ“v Lo !
- Which one restores diploid number of; 1 Spermatoge- ;
12. chromosomes? :Oogenesis  :nesis Ovulation ‘Fertilization | O o O O
T;l_tfdls/};g;(;-rn/ufr_u:ursI/‘f’m Eu/-':;':’,g' ‘:ijg,r ;u‘fﬂy} ;
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Time allowed: 2:45 Hours

BIOLOGY SSC-lI

Jo

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 33)
Q.2  Attempt any ELEVEN parts. All parts carry equal marks. (11 x 3 =33)

Note:
Q.3

(i)
(i)
(i)
(iv)
(v)
(vi)

(vii)
(viii)

(ix)

(xii)
(xiii)
(xiv)

(xv)

Write down any three points on importance of single cell protein.

Differentiate between Internal and External fertilization.

Relate the function of dialyzer with that of a kidney.

Draw a typical sensory neuron and label its parts.

Calcitonin and parathormone are antagonistic to each other. Comment.

Suppose someone is facing fear, anger or anxiety. Which changes in their body prepare them to face
such emergency situation?

How are bacteria developing resistance against antibiotics?

Give a comparison between continuous and discontinuous variations.

Sea grasses face entry of salts and exit of water out of their cells. How sea grasses overcome these

situations?

Write down any three biological consequences of smoking in relation to the lungs and circulatory system.

Complete the table.

Cause of Disorder Name of Disorder
a. Functional disorder of CNS
b. Deficiency of vasopressin
C. Excess STH after growing age

Write down causes symptoms and treatment of Fits/Epilepsy.
Write down any three advantages of using fermenters in preparing medical products.
Construct a food web in grass land ecosystem, showing at least three trophic levels.

What is theory of special creation?

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)

All traits in organisms do not obey Mendel's laws. Explain two such traits which show deviations from
Mendel's laws?

Explain the process of spermatogenesis. Also draw a suitable sketch.

Explain the structure and functions of any six parts of air passage way.

Explain narcotics and hallucinogens as major addictive drugs.

Carbon cycle is a perfect cycle in the sense that carbon is returned to atmosphere as soon it is removed.

How does it happen? Explain. Also draw its diagram.

Describe the action of flexors and extensors as a pair of antagonistic muscles giving suitable example.
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